MONDAY

TUESDAY

1. Simplify 7¢. 1.36=06=__ E
2.35205<= 2. What is the volume of a trench 3 m by 2 m by 1 m? g
~
3. Complete the formula: diameter=__ x m’ G
4.81300ml =822 = 8. L 3. Tick which would be better to weigh cooking ingredients, =
5. &4 | Ikitchen scales || bathroom scales
6.0 pd 4.Simplify 2.
_ 5. What is the perimeter? LN
7. Write the numeral 2.08 million. R il e 36’%
6. Write the numeral 2.8 million. E
p e
g. 1,000 3,000 9,000 27,000 - e
Ee .
9. The chance of a baby being born a girl is nleable -
[ T0%. - 150%. 1100%. e PLARE0 - L=
: , , , 9. There are 7 euro to 1,000 yen. How many
10. What is the radius of a circle which has euro would you exchange for 2,000 yen?
a 50-cm diameter? cm €
MN.a+3=5 s0a= 10. Reduce the line by 3:1. i
12. 8 = mm
13. Name this shape. 11. What is the place value of the 3 in 1.0737
1LTR= —
14. A cube has six 2-cm by 2-cm faces, 13. Tick which would be the best to measure the capacity
What is the surface area? of a bucket.
L] 5,000-mL container
. m?
, " 11,000-mL jug
15. What is the place value of the
71in3.067? " 1100-mL beaker N
My=___  °
16. There are 6 euro to 10 Australian dollars. 35° L
How many euro would you exchange for
20 Australian dollars? 15.75x 45 = [ 13,370 [ 13,375
. 13,371 13,372
L] O O
17. 5 of =14 16.7=T="=7
18. 7 km = m 17.100 x 1.01 =
19.59x 9 = 18. Order these from smallest to largest.
0.3 ¥ 3 e 0
20. What is the average of the dance scores? : ¢ * ¢
4.8 43 42 47 t
19.1.96, 1.9/, 1.98, 199,
20.49x9=_
b G Clss 976-1-92096-244-9 Prim-Ed Publishing — wwiprim-ed.com
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11.
12.

13

15.
16.

17

18.

19.

20.

. What is the perimeter of this

2
-3+

WEDNESDAY

. Write the numeral 6.057 million.

A5208=_
. Simplify 3.

. Complete the formula: diameter=___ x

3 mm
quadrilateral? AL

mm

wuw gz
40,7707

25 mm

- Simplify366= — .

Reduce this lineby4:1. _ mm

10,000,000 x 10 =

Order these from smallest to largest.

3 4

0.88 T 4

. &
I 3

.39x 25 x40 =
14.

The angles in a quadrilateral add up to
0.097, 0.098, 0.099,
Convert the speed of 1 km in 12 minutes to km/h.

~ km/h

wrs

2
+5=

Write two capital letters that have a horizontal line
of symmetry.
and
What is the area of the garden?
40m
S m?
The perimeter of the house " . L
is 80 m.What is the perimeter 3 = SRl
of the garden? 20m
Garden

m

New Wave Mental Maths

10.

THURSDAY

.8.1+09="_
1 1
sEETE__
. Reduce this line by 5:1. _mm
10 APRIL 11 APRIL
. —_— 2.0
IU.'—ES UE.U
The time difference is hours
and minutes.
. Write the numeral 10.65 million.
CSimplify s,
. 1,100,000 — 300,000 =
AL2sml=4dveel=4_ L
2 1
TXT=
Show as a 90° rotation clockwise.

M W.

11. % of an hour = minutes
12,4+ 707 =

13. 10%=

14. j4—=

15.6m= mm

16. 3.85, 3.9, 3.95, ,4.05,

17.

18.

19.

20.

Prim-Ed Publishing — www.prim-ed.com

Draw a dot at (5,1) 4 |

and label it 'A'". 3
Draw a dot at (1,5) 2l
and label it 'B". i

1 2 3 4 5

There are 0.6 euro to 1 Canadian dollar. How many euro
would you exchange for 5 Canadian dollars?

€
Round 18.3678 to three decimal places.
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PROBLEM-SOLVING

Monday

| The surface area of this cube is 24 cm?.

The volume is

cm’.

2. The surface area of this cube is 150 cm?. [~

The volumeis — cmP.

Tuesday

6th Class Library Borrowings

W N
D‘O (=}
it
L 3
“_“_
L J

=]

Number of Books
(=]

= N W B
=1
|

o o
P

1 5 6

F 2 4
School Weeks

. What possibly occurred in Week 47?

. In Week 6, there were 40 books borrowed.

Plot this on the line graph. What possible reason/s
could there be for the decline of books borrowed
from the previous week?

Wednesday

. A juice drink stall used 30% of its 40 bags of

oranges on Monday. How many bags were left?

. Each bag of oranges averages 800 mL of juice.
How much orange juice was made on Monday?

mb

Thursday

. Tomatoes cost 80c per 200 g. What is the cost of

5 kg tomatoes? €

. The tomatoes were reduced in price by 50%.

What is the cost of 4% kg?

€

A=A | O9A0S TAA O

Z

FRIDAY REVIEW

. Write the numeral

4.73 million,

45+05=__

3. % 200 = 1,000,

4.

10.

11.

12.
1

SOp=

Reduce this line by 3:1.

ol
|

—mm

L100x 100 = .

. Complete the formula:

diameter = D X D

.9.85,9.9, 9.95,

502 ml=5vwL

=5 |

Ao
« 5 X7 =

What is the place value of
the 4in 2.624?

The chance that it will rain
today is

1 0%.
1 100%.
8= _

[ 150%.

A shape has eight 3-cm
by 4-cm faces. What is the
shape's surface area?

cm?

My=___  °

x i EA PriRliehine — ek sEmead com

15.

16.

17

18.

19.

20.
2.

22,

23.

24,

25.

There are 6 euro to 10
Australian dollars. How
many euro would you
exchange for 30 Australian
dollars?

€

What is the average of 60,
90 and 307

2. 3.3
I+ t+tr=

1,000,000 x 10 =

Show as a 270° rotation
clockwise.

|

N~ .
LY ‘
C 'ij \.\\\ } |

=9 =7

[]

Round 21.5986 10
3 decimal places.

200 seconds =

min sec

The angles in a trapezium
add up to

[o]

-+ + 75 = (decimal)

The surface area of this
cube is 96 cm?,
The dimensions of each
square face are

cm by cm.

7€ J°aMm



